
 

  

OCTOBER 2013 U/ID 31602/UCHB 

Time : Three hours Maximum : 100 marks 

SECTION A — (40 × 1 = 40 marks) 

Answer ALL questions. 

 Choose the correct answer : 

1. The most important means of economic development in a region 

is 

 (a)  Man (b)  Soil    (c)   Mineral Resources  (d)  Oil Resources 

 J¸ Ámhõµzvß ö£õ¸Íõuõµ ÁÍºa]UPõÚ •UQ¯ ÁÈ –––––––––. 

 (A) ©Ûuß   (B)  ©s   (C)  PÛ© ÁÍ®   (D)  Gsön´ ÁÍ® 

2. For future economic development which of the following is of the 

greatest importance? 

 (a)   Develop resources of all kinds   (b)   Water resources only  

(c)   Mineral resources only  (d)  Oil resources only 

 RÌÁ¸ÁÚÁØÖÒ GvºPõ» ö£õ¸Íõuõµ ÁÍºa]US EP¢ux Gx? 

 (A) AøÚzx ÁøP¯õÚ ÁÍ[PøÍ²® ÷©®£kzxÁx    

(B)  }º ÁÍ® ©mk®   (C)  PÛ© ÁÍ® ©mk®   (D)  Gsön´ ÁÍ® 

©mk® 

3. Which of the following is not a characteristic of primitive 

gathering? 

 (a)  It is done in isolated pockets   (b) It is the oldest form of 

economic activity (c)  It is an intensive form of economic activity 

(d) It is associated with low man land ratio 

 RÌÁ¸ÁÚÁØÖÒ £Ç[Si°Ú ÷\P›zuÀ •øÓ÷¯õk 

öuõhº¤À»õux 

 (A) SÔ¨¤mh £Sv°À ©mk® |øhö£ÖÁx   (B)  ªP¨ 

£Çø©¯õÚ ö£õ¸Íõuõµ |hÁiUøP   (C)  wÂµ¨ ö£õ¸Íõuõµ 

|hÁiUøP   (D)  ©Ûu&{» ÂQu® SøÓÄ  

4. Which of the following statements is not true about Extensive 

Commercialised Farming ? 

 (a) The farm size is very large (b) Cultivation is dominated by 

wheat monoculture  (c)  Cultivation is mechanized (d) Farming is 

done with the help of irrigation 
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 RÌÁ¸® TØÖPÎÀ £µ¢u Áõo£ ÷ÁÍõsø©÷¯õk 
öuõhº¤À»õux Gx? 

 (A) ÷ÁÍõs {»® ªP¨ö£›¯x   (B)  ÷Põxø© ©mk® 

£°›h¨£hUTi¯x   (C) ÂÁ\õ¯zvÀ C¯¢vµ[PÒ £¯ß£õk     

(D)  }º¨£õ\Ú Á\v÷¯õk ÂÁ\õ¯® 

5. The most important problem of plantation agriculture is that 

 (a)  It is affected by diseases   (b) There are frequent labour 

unrests   (c)  There are law and order problems (d) The 

technological knowhow is lacking 

 ÷uõmh¨ £°º ÂÁ\õ¯zvß •UQ¯¨ ¤µa\øÚ 

 (A) ÷|õ´z uõUSuÀ   (B)   öuõÈ»õÍº ¤µa\øÚ  (C)  \mh® 

JÊ[S ¤µa\øÚ   (D)  ¦v¯z öuõÈÀ~m£zøu AÔ¯õv¸zuÀ 

6. The Mediterranean agriculture is chiefly characterized by 

 (a) Wheat cultivation (b) Horticulture (c) Orchard farming  

(d)   Market gardening 

 ©zv¯z uøµUPhÀ ÂÁ\õ¯® G÷uõk öuõhº¦øh¯x? 

 (A) ÷Põxø© ÂÁ\õ¯®   (B)   ÷uõmh¨£°º  (C)   £Çz÷uõmh®  

(D)  \¢øuz ÷uõmh® 

7. Mixed farming means 

 (a) Growing wheat mixed with pulses (b) Growing oilseeds and 

pulses together (b)  Agriculture and livestock rearing is done (d) 

Mixing intensive and extensive agriculture 

 P»¨¦ ÂÁ\õ¯® Gß£x 

 (A) ÷Põxø©²®, £¸¨¦ ÁøPPÐ® EØ£zv ö\´Áx    

(B)  Gsön´ ÂzxUPÐ® £¸¨¦ ÁøPPÐ® £°›kÁx    

(C)  ÂÁ\õ¯•®, PõÀ|øh ÁÍº¨¦® ö\´uÀ   (D)  wÂµ ©ØÖ® 

£µ¢u ÂÁ\õ¯® 

8. Sheep and goat are largely reared in 

 (a) Interior of Peninsular India (b)   Asiatic desert (c) Baltic 

region (d)  Namib desert 

 ö\®©Ô¯õk ©ØÖ® öÁÒÍõkPÒ AvPÍÂÀ ÁÍºUP¨£kÁx 

 (A) w£PØ£ C¢v¯õÂß Em£Sv  (B) B]¯¨ £õø»ÁÚ®   
(C)    £õ»iU Ámhõµ®  (D)  |«¤¯õ £õø»ÁÚ® 
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9. –––––––––––––– rear ––––––––––––––  in Central Asia. 

 (a)  Khirghiz, Horses   (b)  Kalmuks, Reindeer (c) Tibetans, 

Horses   (d)   Buryats, Goats 

 ©zv¯ B]¯õÂÀ –––––––––––––  CÚ® –––––––––––––  

ÁÍºUQÓõºPÒ. 

 (A)   QºQì, SvøµPÒ   (B)  PõÀ•Uì, ©õßPÒ   (C)  vö£zv¯º, 

SvøµPÒ   (D)  £º¯õmì, öÁÒÍõkPÒ 

10. The advantage goats have over sheep is 

 (a)   Goat are more agile   (b) Goat withstand climatic changes 

better   (c)  Goat feed on grasses  (d)  All of the above 

 ö\®©Ô¯õkPøÍ Âh öÁÒÍõkPÒ GÆÁøP°À ]Ó¢ux? 

 (A) öÁÒÍõkPÒ ªPÄ® _Ö_Ö¨£õÚx   (B)  öÁÒÍõkPÒ 

Põ»{ø» ©õØÓzøu uõ[PUTi¯x   (C)   öÁÒÍõkPÒ ¦ØPøÚ 

EsnUTi¯x  (D)  CøÁ¯øÚzx® 

11. Which of the following countries is famous for dairy? 

 (a)  Australia (b)   Japan   (c)   South Africa     (d) Denmark 

 £õÀ£sønUS¨ ö£¯º ö£ØÓ |õk Gx? 

 (A) Bìv÷µ¼¯õ   (B)  á¨£õß   (C)  öuß B¨¤›UPõ    

(D)  öhß©õºU 

12. Mineral is a  

 (a) Perennial resource (b) Replenishable resource     

(c) Non-replenishable resource (d) Unexpolited resource 

 PÛ©® Gß£x 

 (A) ÁØÓõu ÁÍ®   (B)  Dkö\´¯UTi¯ ÁÍ®    

(C)  Dk ö\´¯•i¯õu ÁÍ®   (D)  _µsh¨£hõu ÁÍ® 

13. Which of the following minerals is smelted or refined near sites 

of abundant and cheap power? 

 (a)  Iron ore (b) Bauxite  (c)   Manganese (d) Petroleum 

 G¢u uõx ªß\õµ \Uv A¸Põø©°À QøhUPUTi¯ ChzvÀ 

¤›zöukUP¨£kQÓx? 

 (A) C¸®¦ uõx   (B)  £õUøém   (C)  ©õ[PÜ_    

(D)  ö£m÷µõ¼¯® 
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14. Nearness to the market is essential for the following industries, 

except one. Identify 

 (a)   Confectionary   (b) Petroleum refining (c) Fresh milk and 

poultry   (d)  Sugar industry 

 RÌÁ¸ÁÚÁØÖÒ G¢u öuõÈØ\õø»US \¢øu A¸Põø©°À 

C¸UPz ÷uøÁ°Àø»? 

 (A) ªmhõ´ öuõÈØ\õø»   (B)  ö£m÷µõ¼¯ _zvP›¨¦ 

öuõÈØ\õø»   (C)  £õÀ ©ØÖ® ÷PõÈ¨ £søn   (D)  \ºUPøµz 

öuõÈØ\õø» 

15. Which one of the following is known as ‘Pittsburg of India’? 

 (a)  Baroda   (b)   Rourkela   (c)  Jamshedpur   (d)  Durgapur 

 ‘C¢v¯õÂß ¤mì£ºU’ GßÓøÇUP¨£k® |Pµ® 

 (A) £÷µõhõ   (B)   ¸º÷P»õ  (C)  áõ®öåm¦º   (D)  xºPõ¦º 

16. Which of the following waterways does not pass through the 

Panama Canal? 

 (a) London-Honolulu (b) New York-San Francisco   

(c) New york-Buenos Aires   (d) New York-Sydney 

 RÌÁ¸ÁÚÁØÖÒ G¢u }ºÁÈ¨£õøu £Úõ©õ PõÀÁõ´ ÁÈ¯õPa 

ö\À»õx? 

 (A) »shß&÷Põ÷Úõ¾¾   (B)  {²¯õºU&\õß¤µõß]ì÷Põ    

(C)    {²¯õºU&¤²ÚìA¯ºì  (D)  {²¯õºU&]mÛ 

17. Croydon is an international airport of 

 (a)   USA (b) France  (c)  UK    (d)  India 

 Qµõ´hõß \ºÁ÷u\ Â©õÚ{ø»¯® EÒÍ |õk 

 (A) ².Gì.H   (B)   ¤µõßì  (C)  ².÷P   (D)  C¢v¯õ 

18. The Kiel canal links 

 (a) Mediterranean and Black Sea  (b)   Pacific and Atlantic 

oceans  (c) Mediterranean and Red Sea (d) North Sea and Baltic 

Sea 

 Rº PõÀÁõ´ Cøn¨£x 

 (A) ©zv¯z uøµUPhÀ ©ØÖ® P¸[PhÀ   (B)  £]¤U ©ØÖ® 

Am»õsiU ö£¸[PhÀ   (C)  ©zv¯z uøµUPhÀ ©ØÖ® ö\[PhÀ    

(D)  ÁhPhÀ ©ØÖ® £õÀiU PhÀ 
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19. The longest railway line of the world is 

 (a)  Canadian Pacific Railway   (b)  Cape-Cairo Railway  

(c) trans-Siberian Railway (d) Paris-Constantinople 

 E»Qß }Í©õÚ Cµ°À £õøu Gx? 

 (A) PÚi¯ß £]¤U Cµ°À£õøu   (B)  ÷P¨ öP´÷µõ Cµ°À£õøu   
(C) iµõßì ø\¥›¯ß Cµ°À£õøu   (D)  £õ›ì 
Põßìhõßiß÷|õ¤Ò Cµ°À£õøu 

20. The polar regions are sparsely populated because  

 (a) Growing season is short owing to low temperature  (b)  There 

are no mineral resources (c) The regions are forested (d) The 

region is inaccessible 

 x¸Á¨ £SvPÎÀ ©UPÒ £µÁÀ SøÓÁõP C¸UPU Põµn® 

 (A) SøÓ¢u öÁ¨£{ø»¯õÀ ÁÍ¸® £¸Á® SøÓÄ   (B)  PÛ© 
ÁÍ® CÀø»   (C)  PõkPÒ {øÓ¢u £Sv   (D)  Em¦P •i¯õu Ch® 

21. Which is not a sparsely populated area? 

 (a)  Cold Polar region   (b) Sahara   (c)   South-Eastern Asia  

(d) Kalahari 

 RÌÁ¸ÁÚÁØÖÒ Gx ©UPÒ £µÁÀ SøÓÁõP EÒÍ £Sv AÀ»? 

 (A) x¸Á¨ £Sv   (B)  \Põµº   (C)  öußQÇUS B]¯õ    
(D)  P»EÓõ› 

22. Which one of the following countries has the highest density of 

population? 

 (a) Japan   (b)  India   (c)   China   (d)  Indonesia 

 RÌÁ¸ÁÚÁØÖÒ AvP ©UPÍhºzv öPõsh |õk Gx? 

 (A) á¨£õß   (B)  C¢v¯õ   (C)  ^Úõ   (D)  C¢÷uõ÷Ú]¯õ 

23. Density of population refers to the 

 (a)   Number of people in a country   (b) Number of people in a 

state  (c)   Total number of people in a continent (d) Quantitative 

relationship between the number of people and units of land 

area 

 ©UPÍhºzv Gß£x 

 (A) J¸ |õmiÀ EÒÍ ©UPÎß GsoUøP   (B)  J¸ ©õ{»zvÀ 

EÒÍ ©UPÎß GsoUøP   (C) J¸ PshzvÀ EÒÍ ©UPÎß 

GsoUøP   (D)  J¸ £Sv°ß ©UPÒ öuõøPUS® A¨£Sv°ß 

£µ¨¤ØS® EÒÍ öuõhº¦ 
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24. Which is the most universal mode of transport? 

 (a)   Road Transport  (b)  Rail Transport  (c)  Ocean Transport  

(d) Air Transport 

 E»QÀ ö£¸©ÍÄ £¯ß£kzu¨£k® ÷£õUSÁµzx ÁøP 

 (A) \õø» ÷£õUSÁµzx   (B)  C¸¨¦¨£õøu ÷£õUSÁµzx    

(C)    }ºÁÈ ÷£õUSÁµzx (D)  Â©õÚ¨ ÷£õUSÁµzx 

25. The equatorial lowlands have very low density of population. 

This is mainly because 

 (a) The equatorial regions are very poor in resources   

(b) The equatorial regions have very low amount of rainfall     

(c) The equatorial climate is very enervating  

(d)     The equatorial vegetation is dense 

 §©zv¯÷µøP¨ £Sv°À SøÓÁõÚ ©UPÍhºzvUSU Põµn® 

 (A)     ÁÍ¨£ØÓõUSøÓ (B) ©øÇ¯ÍÄ SøÓÄ  

(C)   ÷\õºÄmhUTi¯U Pk® Põ»{ø»   (D)  Ahº¢u PõkPÒ 

26. Which one of the following is the most significant ecological 

determinant of population distribution in the world? 

 (a)   Physical features    (b) Mortality rate (c) Land fertility

 (d) Climate 

 E»P ©UPm£µÁø»z wº©õÛUS® •UQ¯©õÚ `ÇÀ Põµo 

 (A) C¯ØøP {»z÷uõØÓ[PÒ   (B)  CÓ¨¦ Ãu®   (C)  {» ÁÍ®   

(D)  Põ»{ø» 

27. In any country mortality rates will be highest amongst 

 (a)  professional people  (b)  computer experts      (c) Tourists

 (d) unskilled workers 

 CÓ¨¦ Ãu® AvP® Põn¨£kÁx 

 (A) öuõÈÀ \õº¢u ©UPÒ   (B)  Poo {¦nºPÒ   (C) _ØÖ»õ¨ 

£¯oPÒ    (D)  vÓÚØÓ öuõÈ»õÍºPÒ 

28. Migration which flows from prosperous to less prosperous region 

is called 

 (a) Reverse migration (b) Return migration (c) Perverse 

migration (d)   None of these 
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 ÁÍ® AvP©õÚ Ámhõµzv¼¸¢x ÁÍ® SøÓÁõÚ Ámhõµzøu 

÷|õUQ¯ ©UPmö£¯ºÄ GÆÁõÖ AøÇUP¨£kQÓx? 

 (A) uø»RÌ ©UPmö£¯ºÄ   (B)  v¸®¦® ©UPmö£¯ºÄ    

(C)    ö|Ô uÁÔ¯ ©UPmö£¯ºÄ (D)  CÁØÔÀ GxÄªÀø» 

29. The Trans Atlantic migration was caused by 

 (a)   growing unemployment     (b) worsening environmental 

condition (c)    growing population   (d)   All of the above 

 iµõßì Am»õsiU ©UPmö£¯ºÄ HØ£hU Põµn® 

 (A) ÷Áø»Áõ´¨¤ßø©   (B)  _ØÖa`ÇÀ ^º÷Pk   (C)   ©UPm 

ö£¸UP®  (D)  CøÁ¯øÚzx® 

30. The pattern of settlement which gives birth to new or daughter 

settlement is called 

 (a)   Mother settlement     (b)      Father settlement    (c) First 

settlement (d) Traditional settlement 

 ¦v¯ Si°¸¨¦ HØ£hU Põµn©õP C¸UPUTi¯x 

 (A) uõ´ Si°¸¨¦   (B)  u¢øu Si°¸¨¦   (C) •uÀ Si°¸¨¦    

(D)  £õµ®£›¯U Si°¸¨¦ 

31. Dry point settlements are common in 

 (a)  Deltas   (b)   Mountain regions  (c)   Deserts   (d) Plains 

 }º\õº£ØÓ Si°¸¨¦PÒ Põn¨£kÁx 

 (A) öhÀhõUPÎÀ  (B) ©ø»¨¤µ÷u\[PÎÀ   (C)  £õø»ÁÚzvÀ   

(D)  \©öÁÎ°À 

32. Wet point settlements are those which are? 

 (a)   Near the source of water supply   (b) Far from the source of 

water supply   (c) In marshes and swamps  (d)   In deserts 

 }º \õº¦ Si°¸¨¦PÒ Gß£x 

 (A) }µõuõµ® A¸Põø©°À EÒÍx   (B) }µõuõµzvØS 

öuõø»ÂÀ Aø©¢xÒÍx    (C)  \x¨¦ {»[PÎÀ Põn¨£kÁx   

(D)  £õø»ÁÚzvÀ C¸¨£x 
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33. Which is the finest variety of coffee? 

 (a)   Liberica (b)  Arabica   (c)   Robusta    (d)  Kalyan sona 

 Gx uµ©õÚ Põ¨¤ ÁøP? 

 (A) ø»÷£›Põ    (B) A÷µ¤Põ   (C) öµõ£ìhõ   (D)   PÀ¯õß ÷\õÚõ 

34. Nucleated settlements are commonly found in 

 (a)   Arid regions   (b)  Deltas    (c)  Mountain regions    (d) At any 

place regardless of geography 

 EmP¸ Aø©¢u Si°¸¨¦PÒ ö£õxÁõP Aø©Áx 

 (A) ÁÓsh ¤µ÷u\[PÎÀ   (B)  öhÀhõUPÎÀ    

(C) ©ø»¨¤µ÷u\[PÎÀ   (D)  GÀ»õ Ch[PÎ¾® 

35. The term ‘Dynopolis’ was coined by 

 (a)   Arthur Geddes    (b)  Patrick Geddes   (c) Leonard Guelke

 (d)  C.A. Doxiadis 

 ‘øh÷Úõ£õ¼ì’ GßÓ ö\õÀø» E¸ÁõUQ¯Áº 

 (A) Bºuº öáiì   (B)  £õm›U öáiì   (C)  ¼÷¯õÚõºk SÁÀQ   

(D)  ].H. hõUê¯iì 

36. Senile town is in the 

 (a)   Infant stage  (b)   Juvenile stage  (c) Old stage (d) Relict 

stage 

 •xø©¯õÚ |Pµ® Gß£x –––––––––––––  {ø»°À EÒÍ JßÖ. 

 (A) Bµ®£ {ø»   (B)  CÍ® {ø»   (C)  •xø© {ø»    

(D)  Gg]¯ {ø» 

37. Ghost towns are 

 (a)   Flourishing towns   (b)     Deserted towns    (c) Developed 

towns    (d) Towns affected by Tsunami 

 ÷£´ |Pµ® Gß£x 

 (A) ÁÍºa]¯øh²® |Pµ®   (B)  øPÂh¨£mh |Pµ®   (C)  ÁÍº¢u 

|Pµ®   (D)  _Úõª¯õÀ £õvUP¨£mh |Pµ® 

38. A series of urban centres which have merged together at 

different scalar levels is termed 

 (a)   Conurbation   (b)   Metropolis (c)  Megalopolis    (d) Sympolis 
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 |Pµ ø©¯[PÒ öuõhºa]¯õP Jß÷ÓõöhõßÖ Cøn¢x 
Põn¨£kÁx 

 (A) PÚº÷£åß   (B)  ö©m÷µõ£õ¼ì   (C)  ö©P÷»õ£õ¼ì    
(D)  ]®£õ¼ì 

39. The least compulsive factor in the location of an industry is 

 (a)   Transport   (b)   Power    (c) Raw Materials  (d) Source of 

finance 

 öuõÈØ\õø» Aø©Âhzøu AvP® £õvUPõu Põµo 

 (A) ÷£õUSÁµzx   (B)  ªß\Uv   (C)  ‰»¨ö£õ¸mPÒ    
(D)  {v Buõµ® 

40. Which is the biggest producer of petroleum in South America?  

 (a)   Brazil    (b)   Chile    (c)   Venezuela   (d)  Peru 

 öuß Aö©›UPõÂÀ AvP©õP ö£m÷µõ¼¯® EØ£zv ö\´²® |õk 

 (A) ¤÷µ]À   (B)  ]¼   (C)  öÁÛ`»õ   (D)  ö£¸ 

SECTION B — (5 × 4 = 20 marks) 

Answer any FIVE questions. 

All questions carry equal marks. 

41. Describe the scope of Economic Geography. 

 ö£õ¸Íõuõµ¨ ¦Â°¯¼ß ÷|õUP® SÔzx ÂÁ›. 

42. Give an account on Shifting Cultivation. 

 Ch©õØÖ ÂÁ\õ¯® £ØÔ J¸ öuõS¨¦ u¸P. 

43. Write about conservation of power resources. 

 \Uv ÁÍ[PøÍ¨ £õxPõzuÀ SÔzx GÊuÄ®. 

44. What are the sources of population data? 

 ©UPÒöuõøP¨ ¦ÒÎÂÁµ[PÎß Buõµ[PÒ ¯õøÁ? 

45. List Out the factors affecting the distribution of population in 

the world. 

 E»Qß ©UPÒ öuõøP £µÁø»¨ £õvUS® PõµoPøÍ¨ £mi¯¼kP. 

46. Explain the types of houses. 

 ÃkPÎß ÁøPPÒ SÔzx ÂÁ›. 
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47. What are the causes of migration from rural to urban areas? 

 Qµõ©¨ £Sv°¼¸¢x |Pµ¨ £SvUS ©UPÒ Ch®ö£¯¸ÁuØPõÚ 
Põµn[PÒ ¯õøÁ? 

48. Write an account on important trade routes of the world. 

 E»Qß •UQ¯©õÚ ÁºzuP¨ £õøuPÒ SÔzx J¸ SÔ¨¦ u¸P. 

SECTION C — (2 × 20 = 40 marks) 

Answer any TWO questions. 

All questions carry equal marks. 

49. Explain the favourable conditions required for major fishing 

activities in the world. 

 E»Qß «ß¤izuÀ |hÁiUøPUSz ÷uøÁ¯õÚ \õuP©õÚ {ø»PÒ 
SÔzx ÂÁ›. 

50. Describe the factors influencing the development of iron and 

steel industry in a region. 

 K›hzvÀ C¸®¦ GLSz öuõÈØ\õø» ÁÍµz ÷uøÁ¯õÚ PõµoPÒ 
£ØÔ ÂÍUSP. 

51. Give a detailed account on functional classification of urban 

area. 

 ö\¯À£õmiß Ai¨£øh°»õÚ |Pµ ÁøP£õk £ØÔ Â›ÁõP 
ÂÍUSP. 

–————— 


